B3

il mERXRE
(Eifss: M)
B & = B BERHE BEER Z Dfth &t
& & & & & # & # & 8 |hH| & &

4R 10,000 1 10,000
5A 10,000 1 10,000
6 A 4,464 16,000 | 3 20,464
7R 14,000 4,840 2 18,840
8 A 10,000 30,000 | 2 40,000
9A 0 0
10R 8,930 7,260 3 16,190
118 22,054 8,930 5 30,984
128 0 0
1R 4,464 4,464 2 8,928
2R 0 0
3A 8,928 10,000 3,000 4 21,928
Bi 48,840 22,930 40,000 19,564 46000 | 23| 177,334




Ak 2

SH2EE4AHXHAR
(B M)
AH THESS IHRBUTELSE) S &%
4/14 3 |EHE |FH 10,000

&5t 114 10,000




Ak 2

SH2EESA X HRAR
(B {1:[M)
AHB THE R IHERAE(ITELSE) S H&EE
5/8 3 |ERE |FH 10,000

&t 14 10,000




Ak 2

SH2FE6A N ZTHRNR
(B 4I:F)
AH THESS XHABR(TELE) X HEEE
6/8 8|z |HBIRTSEFIER-FIHERNITEEME 10,000
6/22 8|z |[FKEZILERFIMITHEEE -NFUMME 6,000
6/26 1| FiE |JARATh IR IR S M ER it fE 5% 4,464
Bt 34 20,464




Ak 2

SH2EE7AHXHAR
(B M)
AH THESS IHRBUTELSE) S &%
7/11 7 |BEEE |BER 4,840
7/13 2 |& MELEREESRS 14,000

op
Ew

24 18,840




Ak 2

SH2EESA N XHAR
(B M)
AH THESS IHRBUTELSE) S &%
8/13 | 8 [z |FEZILEF 30,000
8/21 3 |EFE |BH 10,000
Bt 244 40,000




Ak 2

SH2EEIA N ZXHERNER
(Bf7:F)
AH THESS THAB(TELSE) XHEEE
XL 0




Ak 2

SH2EEI0A S X HERR
(B M)
AHB THESS IHRBUTELSE) S &%
10/6 7 |BEEE |BER 7,260
10/21 | 1 |#E |[BATRACLOSI0FEESHES 4,466
10/22 | 1 |fE  |LGEEEE 2—EIN 4,464
Bt 34 16,190




Ak 2

SH2EE1ASXHERR

(B M)
AH THESS IHRBUTELSE) S &%
11/3 2 |& Jt B HURFE SR 4,464
11/15 | 1 |8HE  |R)IBEBRESOHOELN 10,000
11/20 | 2 |& R E RIS KRS UNFESR 4,466
11/21 | 1 |85E  |[JARATIHEE HE RURFESS 7,590
11/25 | 1 |HiE  |BRBRRKEREHESR 4,464

&t 544 30,984




Ak 2

SH2EE12A S XHERR
(Bf7:F)
AH THESS THAB(TELSE) XHEEE
XL 0




Al 52

SH2EE1 Ao XHAR
(B {:M)
AH THESS THAB(TEREH) THEE
1/4 7 |BEEE |PINFREDELL 4,464
1/10 | 1 |%E  [dtEBEE/# 4,464
HEt 244 8,928




Ak 2

SH2EE2A S XHRNR
(Bf7:F)
AH THESS THAB(TELSE) XHEEE
XL 0




Ak 2

SH2EEIA S XHAR

(B M)
AHB THESS IHRBUTELSE) S &%
3/21 3|EFE |FH 10,000
3/26 1|HE |[JARATEIER IR S kiR T =C 4,464
3/28 1|fHE  |ItBRsSHES 4,464
3/29 7 |IEEE |BEMA 3,000
Bt A5 21,928




